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ΣΥΝΟΛΙΚΗ

ΕΠΙΦΑΝΕΙΑ

ΟΡΟΦΟΥ:

112.33 m

2

ΣΥΝΟΛΙΚΗ

ΕΠΙΦΑΝΕΙΑ

ΟΡΟΦΟΥ:

136.82 m

2

ΣΥΝΟΛΙΚΗ

ΕΠΙΦΑΝΕΙΑ

ΟΡΟΦΟΥ:

47.08
m
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ΣΥΝΟΛΙΚΗ

ΕΠΙΦΑΝΕΙΑ

ΟΡΟΦΟΥ:

190.92
m
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ΕΠΙΦΑΝΕΙΑ

ΟΡΟΦΟΥ:

57.04
m
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ΣΥΝΟΛΙΚΗ

ΕΠΙΦΑΝΕΙΑ

ΚΟΥΦΩΜΑΤΩΝ

ΚΤΙΡΙΟΥ

112.33 + 136.82 + 47.08 + 190.92 + 57.04 = 544.19 m

2

28 τμχ

ΣΥΝΟΛΙΚΗ

ΠΟΣΟΤΗΤΑ

ΟΡΟΦΟΥ:

52 τμχ

ΣΥΝΟΛΙΚΗ

ΠΟΣΟΤΗΤΑ

ΟΡΟΦΟΥ:

25 τμχ

ΣΥΝΟΛΙΚΗ

ΠΟΣΟΤΗΤΑ

ΟΡΟΦΟΥ:

2 τμχ

ΣΥΝΟΛΙΚΗ

ΠΟΣΟΤΗΤΑ

ΟΡΟΦΟΥ:

9 τμχ

ΣΥΝΟΛΙΚΗ

ΠΟΣΟΤΗΤΑ

ΟΡΟΦΟΥ:

ΣΥΝΟΛΙΚΗ

ΠΟΣΟΤΗΤΑ

ΚΟΥΦΩΜΑΤΩΝ

ΚΤΙΡΙΟΥ

28 + 52 + 25 + 2 + 9 = 116 τμχ
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